

OFFICE OF THE EXECUTIVE ENGINEER (ELECT.) KHORDHA ELECTRICAL DIVISION: KHORDHA

No.-TPCODL/KED/Tech./

To

M/S Neelachal Builders Pvt. Ltd., C/o- Sri Satya Priya Jayasingh (M.D.),

At-Bikashnagar, Jatni, Khata No.- 147/210,

Plot No.- 1/495/588 & 541/587,

Mouza- Badanuagaon, Dist- Khordha.

Sub: - Permission for construction of 11KV line with installation of Sub-station towards power supply to 100 KW individual load at L.T. end for S + 4 Storey Residential Apartment, At- Bikashnagar, Khata No.- 147/210, Plot No.- 1/495/588 & 541/587, Mouza- Badanuagaon, Dist- Khordha, under Electrical Section No.-II Jatni, under Deposit Work (on 6% Supervision charges).

Ref:- Approval letter No.- 836⁽²⁾, dt-28.08.2020 of Superintending Engineer (Elect.) Electrical Circle No.-II, TPCODL, Bhubaneswar.

Sir.

With reference to the subject cited above, permission is hereby accorded construction of 11KV line with installation of Sub-station towards power supply to 100 KW individual load at L.T. end for S + 4 Storey Residential Apartment, At– Bikashnagar, Khata No.- 147/210, Plot No.- 1/495/588 & 541/587, Mouza- Badanuagaon, Dist- Khordha, as per terms & condition mention below.

Details of Work

SI. No.	Name of the Work	Scope of Work	Sanction Est. No.	Amount (Rs.)	Remarks
1	Apartment, At- Bikashnagar, Jatni,	 Construction of 11KV line 3¢ 3w using 55mm2 Insulated Conductor – 0.05Km (1No. Span) Erection of 11KV intermediate pole at tapping point using 13Mtr long 150x150mm R.S. Joist pole – 1No. Installation of 250 KVA, 11/.4KV plinth mounted S/S – 01No. using 10Mtr long 100x116mm R.S. Joist pole. 	KED/ DEP(6%) /192/ 2020-21	Rs.7,69,207.00(G) 1) Supervision Charges(6%) = Rs.43,540.00 2) 18% GST on 6% =Rs.7,838.00 & 3) Cess (1%) = Rs.7,692.00	All the scope of works are to be executed by party & maintained by TPCODL under deposit work on 6% Supervision Charges.

Terms & condition:-

- You have to deposit Rs.43,540.00 (Rupees Forty Three Thousand Five Hundred Forty) only towards 6% supervision charges, Rs.7,838.00 (Rupees Seven Thousand Eight Hundred Thirty Eight) only towards 18% GST on 6% Supervision & Rs.7,692.00 (Rupees Seven Thousand Six Hundred Ninety Two) only towards 1% Cess charges as per the sanctioned estimate (Estimate No.- KED/DEP(6%)/192/2020-21) sanctioned by Asst. General Manager (Elect.) K.E.D. Khordha and approved by Superintending Engineer (Elect.) Electrical Circle No.-II, TPCODL, Bhubaneswar (Copy of the estimate is enclosed for reference).
- The Vender selected to execute the work should be approved by Supply Engineer.
- You have to produce the valid license of the Electrical Contractor before execution of the work and the work should executed as per REC standard through a valid licensed HT electrical contractor.
- The materials used for construction purpose should confirm to REC/ISI specification. After procurement of materials to be used for construction of 11KV line, erection of 11KV intermediate pole and installation of Substation, you have to send a request letter to the S.D.O.(Elect.) Jatni with the Xerox copy of the cash memo with compliance of the above, may lead to cancellation of this permission without giving any reason thereof.
- Prior to taking of work, the S.D.O (Elect.) Jatni and J.M. (Elect.) Electrical Section No.-II Jatni are to be intimated for route alignment work.
- You are requested that, the transformer 250KVA should be purchased from the reputed CPRI approved manufacture with facility for ceiling at LT Bushing side and to intimate the TPCODL Engineers (E.E, E & MR Division, TPCODL, At- TLC Colony, Khordha) to test the transformer at factory site before installation at your premises, otherwise the power supply cannot be effected and test report must be submitted before charging. The transformer will be fitted with LT cable end box which will be sealed by TPCODL MRT after charging.



You should submit the transformer guarantee certificate for 02 Years and you have to replace the transformer, 7. if the transformer failed within 02 Years from the date of charging at your own cost with other materials defective on the said period. 8.

You have to provide right of way for construction of 11KV line, erection of 11KV intermediate pole and installation of Sub-station as per the provision of the rule - 8 of OERC Distribution (Conditions of supply) Code-

The power supply shall be effected to the individual houses on LT end after completion of the construction work 9. and there after receipt of the application from the individual houses with observing TPCODL norms & Government rules i.e. as per notification vide No.- 3444, dt-21.01.2013 of Housing and Urban Development Department, if the area comes within the master plan area of the Development Authority, Regional improvement trust and special Town planning Authority, you should submit the occupancy certificate obtaining from the competent authority, before availing the power supply to your Building / installation. 10.

You should install a DT meter at your own cost fulfilling of all formalities of TPCODL. The common supply if any

should be billed on the balance unit after deducting total individual unit from the DT meter.

You are requested to clear up all the arrear dues if any outstanding on the said plot before execution of 11. 12.

If there is a dispute on the land or any other statutory permission on which power supply is given, TPCODL reserve the right to disconnect the power supply observing TPCODL norm.

13. Any dispute / legal complicacy arising out of damage / accident owing to construction of 1KV line, erection of 11KV intermediate pole and Sub-station has to be settled at the responsibility & cost of party. 14.

All electrical safety aspects are to be ensured by your construction of 11KV line, erection of 11KV intermediate pole and installation of Sub-station.

The guarding must be provided against the existing 33KV line / 11KV line / L.T. line / Telephone line / Road, if 15 any keeping allowable clearance. 16.

Anti climbing device is to be provided in the line & Sub-station.

The 11KV line, 11KV intermediate pole, Sub-station and other equipments after due inspection by 17 Superintending Engineer-cum-Electrical Inspector, BBSR and testing etc as required shall be taken over by our site Engineer, item wise from the consumer, specifically with due certification by concerned S.D.O. that (a) No TPCODL materials have been used in the said construction work.

(b) The completed works confirm to approved specification standard sanctioned estimate and other conditions spelt out in this letter.

You are requested to arrange for inspection of the 250 KVA, 11/.4 KV S/S, 11KV line, 11KV intermediate pole 18. with the other accessories by the Superintending Engineer-cum- Electrical Inspector, Khordha Govt. of Odisha, at your own arrangement after depositing necessary fees and submit the inspection report before charging the 19.

You are requested to please deposit 6% supervision charges, 18% GST on 6% & 1% Cess charges in shape of Bank Draft (Separately) to drawn in favour of "TPCODL, KED, KHURDA" payable at Khurda. Further you are requested to deposit the GSTN certificate to this office at the time of deposit of GST amount. 20.

You have to install the suitable capacitor bank of desired rating as per Relevant Indian Standard to improve

21. There should be direct approaching road to the Sub-station & metering point.

After charging all the consumers on this transformer have to abide by all the rules and regulation of TPCODL 22. from time to time as per OERC distribution (conditions of supply) code - 2004 & Electricity act 2003. On the event of detection of any wrong / unauthentic documents and facts relating to this work, the accorded 23.

permission shall be cancelled forthwith by this Office.

The sub-station shall be provided with 5 Nos. of earthing, spreading of metal and sand, boundary wall with 24. fixing of MS Grill Gate etc. having locking arrangement within premises of party. 25.

The land on which the Sub-station stand you should handover to TPCODL for avoiding any complicacy in future. The annual rent for the said land has to be paid by the party.

The transformer should be taken over by TPCODL only after completion of the guarantee period i.e. 02 Years 26. from the date of charging.

Once lines and Sub-station are handed over to TPCODL, TPCODL can provide power supply to any consumer 27. from this transformer at its own discretion 28

The line and Sub-station will be charged only after availing of 50% of total load.

The proposed newly installed S/S shall not be taken over from the builder until & unless 50% individual loads 29. availed otherwise the same will be maintained by the applicant. In case of below 50% beneficiaries; the proportionate transformer loss unit shall be served to common load of 30.

You shall have to produce a clear and valid NOC from BDA / concerned Revenue Department / local 31. Sarapanch and equivalent concerned authority Govt. of Odisha as applicable before energisation.

32. You are requested to procure a suitable range of DT meter with all accessories as per the specification of Executive Engineer (Elect.) MRT Division Khordha before energization, to install in the sub-station DP Structure for energy audit and with billing of common load after deducting of total individual unit from the DT meter. You have to contact Executive Engineer (Elect.) MRT Division Khordha before procurement of the above meter. Any other conditions you have to comply will be intimated to you in due course. Yours faithfully, Encl:-As above. Asst. General Manager (Elect.) No_ 4159_11Date_ 31.6-20. K.E.D. Khordha.

Copy submitted to the Superintending Engineer (Elect.) Electrical Circle No-II, TPCODL, BBSR for favour of kind information and necessary action with reference to his letter No.- 836(2), dt-28.08.2020.

Asst. Generat Manager (Elect.) 1/Date 3/18520 Copy to S.D.O.(Elect.) TPCODL, Jatni / J.M.(Elect.) No.-II Jatni for information and necessary action. They are requested for day to day supervision of works and also submit the completion certificate after completion of the construction work.

Asst. General Manager (Elect.)

No Date 31 Dec MRT Division, TPCODL, Af- TLC Colony, Khordha for information and

No

necessary action

necessary action.

Asst. General Manager (Elect.) Copy to Executive Engineer (Elect.) E & MR, Division, TPCODL, At- TLC Colony, Khordha for information and

Asst. General Manager (Elect.)

office of the Exegution in the entered

Amount (Rs.)

Rs.43540.00 (6%)

Rs. 7692.00 (1%

Rs.7838.00(18% GST)

Cess)

Letter No./SE.II/Tech /...

To

The Asst. General Manager (Elect.) Khordha Electrical Division, Khordha

Permission to Administrative Approval for one No. of sanctioned estimate for construction of 11KV line with Sub:installation of S/S towards power-supply the proposed 100KW individual load for residential apartment of M/-Neelachal Builders Pvt Ltd., C/O- Sri Satya Priya Jayasingh (M.D.) at Bikashnagar, Jatni, Khata No.-147/210 plot No. 1\495/588 & 541/587 Mouza- Badanuagao ,Dist- Khordha under electrical section No.II,Jatni on Deposit work (6% Ref .:-

Your Lr. No. 3992 dtd. 27.08. 20.

Sir,

With reference to the subject cited above, the estimate technically sanctioned and submitted for construction of 11KV line with installation of S/S towards power-supply the proposed 100KW individual load for residential apartment of M/s Neelachal Builders Pvt Ltd., C/O- Sri Satya Priya Jayasingh (M.D.) at Bikashnagar ,Jatni ,Khata No.-147/210 plot No-1\495/588 & 541/587 Mouza- Badanuagao ,Dist- Khordha under electrical section No.II,Jatni on Deposit work (6% Supervision Charges) is hereby administratively approved by the undersigned and returned herewith to execute the works by the party subject to the following terms and condition. Scope of Work

Name of Work Estimate for construction of 11KV line with installation of S/S towards power-supply the proposed 100KW individual load for residential apartment of M/s Neelachal Builders Pvt Ltd., C/O- Sri Satya Priya Jayasingh (M.D.) Bikashnagar ,Jatni ,Khata No.-147/210 No-1\495/588 plot 541/587 Mouza- Badanuagao ,Dist-Khordha under electrical section No.II, Jatni on Deposit work (6%

Sanctioned Esstt. No. Construction of 11KV 3ph3w 55mm2 Insulated conductor-0.05Km (1 No span) KED/ DEP(6%)/ Rs.769207.00 (G) Erection of 11KV intermediate pole at 192/2020-21 tapping point using 13mtr long 150x150mm RS Joist pole-1 No. Installtion of 250KVA 11/.4KV plinth

mounted S/S -1 No using 10mtr long 100x116mm RS joist pole. (All the scope of works are to

be executed by party and maintained by TPCODL)

Terms & Conditions

Supervision Charges).

In compliance to the letter No.33572 (25) dtd.13.12.13 of Chief Operating Officer, CESU, you will have to submit the "Test Certificate" & "Type Test" report of the materials to be utilized in the site to be followed by the inspection of materials as per the specification mentioned in the estimate by the "Inspecting Officer" prior to deposit of 6% supervision charges & execution of the work. Non-compliance of the above may lead to cancellation of this permission without giving any reason thereof.

The quality of materials should be inspected & approved by our departmental officer. Besides that, before dispatch of the transformer from the factory, it should be tested by our E&MR Division & they should certify that, the transformer is Three Star Rated as per Circular No. 39455 (25) dtd. 18.08.2010 of C.O.O, CESU which should be arranged by party.

3. All the scope of works shall be executed by the party & handed over to TPCODL after due inspection by the Electrical Inspector Govt.

The Party will have to deposit 6% of capital estimated cost towards supervision of lines and Sub-station & 1% CESS for this work to

TP CENTRAL DISTRIBUTION ODISHA LIMITED

(A Tata Power & Odisha Govt. Joint venture)

Corporate Office: IDCO TOWERS, (Hnd Floor), Janapath, Bhubaneswar - 751 022 OFFICE OF THE SUPERINTENDING ENGINEER, ELECTRICAL CIRCLE NO. II., BHUBANESWAR ☎: 2354775, 2354863, Fax: 0674 - 2354775



5. All the works should be executed as per REC standard, through a valid licensed H.T Electrical Contractor.

The vendor selected to execute the work should be approved by the Supply Engineer.

The power-supply shall be effected at 11KV with suitable metering at LT

- 8. Detection of any use of TPCODL materials shall bind our Supervising Engineer to the accountability they shall be accordingly prosecuted.
- Inspection of completed line & Sub-station should be inspected by the Electrical Inspector, Govt. of Odisha before charging and is the responsibility of the party.

10. All other techno - commercial precaution as required may be imposed at your end.

11. The party shall deposit processing fees, if not deposited.

12. The safety aspects of the system at the time of work execution shall be strictly observed.

13. The right of way problem, if arises is the sole responsibility of the party.

14. The Sub-Station shall be provided with 5 Nos. of earthing, spreading of metal and sand, boundary wall with fixing of MS Grill gate etc. having locking arrangement within premises of party.

15. L.T bushings of the transformer shall be protected by provision of cable-end-termination box having sealing arrangement, which shall be sealed by Supply Engineer of TPCODL at the time of energisation.

16. The guarding must be provided against the existing 33 KV line / 11KV line / LT line / Telephone line / Road, if any keeping allowable clearance.

17. Anti climbing device is to be provided in the Sub-station.

18. A capacitor bank of suitable capacity is to be installed to ensure drawl of load within the prescribed limit of power factor.

19. The annual rent for land on which the S/S stands has to be paid by the party.

20. Any dispute / legal complicity arising out of damage / accident owing to Sub-station / 11KV lines has to be settled up / compromised of the cost of the party. Further, any complicacy arises in future due to lack of permission from the competent authorities, CESU is not held responsible for this.

The party shall have to produce a clear NOC from BDA Govt. of Odisha before energisation.

Chief(O&S), TPCODL, Bhubaneswar for favour of kind information.

22. For any dispute arising out of land record in respect of right, title, interest after this approval, the permission shall be treated automatically cancelled during the period of dispute.

23. As per OERC Regulation in case of LT metering; the transformer loss unit (Proportionate) will be added to actual monthly consumption.

24. The Guidelines are to be observed as per the CESU Hqtrs. Office Ltr. No.28993 dtd. 07.10.2005 and office order No.17855 dtd. 28.05.2011, the necessary drawing may be approved by Supply Engineer before execution of the work.

25. The detail permission to the party may be issued at your end observing all TPCODL norms. The line & S/S may be charged after completion of works and due inspection by the Electrical Inspector Govt. of Odisha, subject to observing all the departmental formalities of CESU under intimation to this office.

Yours Faithfully

Encl : as above

C.C. to.

GENERAL MANAGER (ELECT)
Electrical Circle No.-II, BBSR

TP CENTRAL DISTRIBUTION ODISHA LIMITED

(A Tata Power & Odisha Govt. Joint venture)



TPADL

Reference to P.W.D Code Chapter VII Sec.7 etc.

ODISHA

PROVINCE

DIVISION: - Khordha Divisional, Khordha

STATION: - Khordha

NAME OF WORK: -

Estimate for construction of 11KV line with installation of sub-station towards power supply to 100 KW individual load for Residential Apartment of M/S Neelachal Builders Pvt. Ltd., C/o-, Sri Satya Priya Jayasıngh (M D) At- Bikashnagar, Jatni, Khata No.- 147/210, Plot No.- 495/588 & 541/587 Mouza- Badanuagao, Dist- Khordha, under Electrical Section No.-II Jatni

SCOPE OF WORK:-1) Construction of 11KV line 3Φ 3w using 55mm2 Insulated Conductor - 0.05Km (1No. Span)

- Erection of 11KV intermediate pole at tapping point using 13Mtr long 150x150mm R.S. Joist pole – 1No.
- 3) Installation of 250 KVA, 11/.4 KV plinth mounted S/S 1No. using 10mtr long 100x116mm R.S. Joist pole.

(All the above works are to be executed by party & maintained by TPCODL)

FUNDS:

DEPARTMENT HEAD: Deposit Work on 6% Supervision Charges

SERVICE HEAD:

MAIN HEAD OF CLASSIFICATION:

SUB-HEAD OF CLASSIFICATION:

ARM OF THE SERVICE:

ESTIMATE NO- 2020-21/S/034/ 190

Amount Rs. 7,69,207.00

(Rupees Seven Lakhs Sixty Nine Thousand Two Hundred Seven) only.

Lechnically Sanctiones

1 76.920 Trupous

Ceum Lanks Broky

Thousand Tan Mudof

Ceum Lough Land

Asst. General Manager (Elect.) K.E.D. Khordha

For Rs. 769207 47/18 43590 w (
Ju. 7692 w. (1.1) / 14 Jan 38 wo
the Sanctioned Estimates
of Ex. Engglish
under. DopoCit. 61. Scheme.

Superintending Engineer Electrical Circle No-II TPCODL, Bhubaneswar

TP CENTRAL ODISHA DISTRIBUTION LIMITED

(A Tata Power and Odisha Government Joint Venture) Corporate attice (IDCG Towers, 2nd Floor, Janpath Bhubacieshwar, 75.19)? www.tpcentralodisha.com

OFFICE OF THE EXECUTIVE ENGINEER (ELECT.) KHORDHA ELECTRICAL DIVISION: KHORDHA

No.-TPCODL/KED/Tech./_3992

Date 27/8/20

To

The Superintending Engineer (Elect.)
Electrical Circle No- II, TPCODL, Bhubaneswar.

Sub:- Submission of feasibility report and estimate for construction of 11KV line with installation of sub-station towards power supply to 100 KW individual load for Residential Apartment of M/S Neelachal Builders Pvt. Ltd., C/o- Sri Satya Priya Jayasingh (M.D.), At- Bikashnagar, Jatni, Khata No.- 147/210, Plot No.- 495/588 & 541/587, Mouza- Badanuagao, Dist- Khordha, under Electrical Section No.-II Jatni.

Sir,

With reference to the subject cited above it is to intimate you that M/S Neelachal Builders Pvt. Ltd., C/o- Sri Satya Priya Jayasingh (M.D.) has applied to avail 100 KW individual load for Residential Apartment, At- Bikashnagar, Jatni, Dist- Khordha under Electrical Section No.-II Jatni.

Power supply will be effected after construction of 11KV line – 0.05Km, erection of 11Kv intermediate pole – 1No and installation of 250KVA, 11/.4KV plinth mounted S/S – 1No under deposit scheme on 6% supervision charges. Proposal has been made that all the above works are to be executed by party and maintained by TPCODL.

In this connection I am enclosing here with the estimate and feasibility report for favour of your kind information and necessary action.

Yours faithfully,

Asst. General Manager (Elect.)

K.E.D. Khordha

Encl:- 1. Processing fee Money Receipt

- 2. Form No-II
- 3. Feasibility report
- 4. Estimate
- 5. Land records
- 6. V.R. Calculation
- 7. Willingness of contractor.
- 8. Representation of party.
- 9. Single Line Diagram of MRT

Reference to P.W.D Code Chapter VII Sec.7 etc.

ODISHA

PROVINCE

DIVISION: - Khordha Divisional, Khordha

STATION: - Khordha

NAME OF WORK: -

Estimate for construction of 11KV line with installation of sub-station towards power supply to 100 KW individual load for Residential Apartment of M/S Neelachal Builders Pvt. Ltd., C/o- Sri Satya Priya Jayasingh (M.D.), At- Bikashnagar, Jatni, Khata No.- 147/210, Plot No.- 495/588 & 541/587. Mouza- Badanuagao, Dist- Khordha, under Electrical Section No.-II Jatni.

SCOPE OF WORK:-1) Construction of 11KV line 3Φ 3w using 55mm2 Insulated Conductor - 0.05Km. (1No. Span)

- Erection of 11KV intermediate pole at tapping point using 13Mtr long 150x150mm R.S. Joist pole – 1No.
- Installation of 250 KVA, 11/.4 KV plinth mounted S/S 1No. using 10mtr long 100x116mm R.S. Joist pole.

(All the above works are to be executed by party & maintained by TPCODL)

FUNDS:

DEPARTMENT HEAD: Deposit Work on 6% Supervision Charges

SERVICE HEAD:

MAIN HEAD OF CLASSIFICATION:

SUB-HEAD OF CLASSIFICATION:

ARM OF THE SERVICE:

ESTIMATE NO- 2020-21/S/034/ 1902

Amount Rs. 7,69,207.00

(Rupees Seven Lakhs Sixty Nine Thousand Two Hundred Seven) only.

769204 Juneau

I housing Tao of Seum losly 1.

Asst. General Manager (Elect.)

K.E.D. Khordha

TP CENTRAL ODISHA DISTRIBUTION LIMITED

Name of work:- Estimate for construction of 11KV line with installation of S/S towards power supply to 100KW individual load for Residential Apartment of M/S Neelachal Builders Pvt. Ltd., C/o- Sri Satya Priya Jaysingh (M.D.), At-Bikashnagar, Jatni, Khata No.- 147/210, Plot No.- 495/588 & 541/587, Mouza- Badanuagaon, Dist- Khordha.

Division:- K.E.D KHORDHA
Sub-division:- Jatni

Section:- Jatni-II

Scope of work:- (I) Construction of 11KV line 3Φ 3w using 55mm2 Insulated Conductor - 0.05Km. (1No. Span)

(II) Erection of 11KV intermediate pole at tapping point using 13Mtr long 150x150mm R.S. Joist pole - 1No.

(III) Installation of 250 KVA, 11/.4 KV plinth mounted S/S - 1No. using 10mtr long 100x116mm R.S. Joist pole.

(All the above works are to be executed by party & maintained by TPCODL)

Amount:- Rs.7,69,207.00

Scheme: - Deposit Work on 6% Supervision Charges

Part-A

SI. No.	Description of Materials	Unit	Qty	Rate	Amount
1	13Mtr long 150x150mm R.S. Joist pole	No/Kg	1/450	65.00	29250 00
2	10Mtr long 100x116mm R.S. Joist pole	No/Kg	2/469	65.00	30485.00
3	250KVA, 11/0.4KV (AL) Transformer BIS Energy Level-	No	1	268450.00	268450.00
	Total cost of materials (as per 18-19 co		328185.00		
	Stock and Storage	@ 3%-			9845.55
				Total	338030.55
	T and P charges @ 2%				
	Contingency @ 3%			17.50%	59155.35
	Transportation @	7.5%		17.50%	39133.33
	Erection @	0 5%			
				Sub-Total	397185.90
	Other overheads (including supervision charges)			@ 6%-	23831.00
				Grand Total	421016.90

Or Say Rs. 421017.00

GST @ 18% on 6% 42

4290.00

1% Cess

4210.00

Part-B1

Construction of 11KV line 3Φ 3w using 55mm2 Insulated Conductor - 0.05Km. (1No. Span)

(II) Erection of 11KV intermediate pole at tapping point using 13Mtr long 150x150mm R.S. Joist pole - 1No

1	55mm2 Insulated Conductor		Qty	Rate	Amount
-	COMMITTE MISCILATED COMMITTED	KM	0.15	48072.75	7210.91
2	100x50x6mm MS Channel for straight cross arm	Kg	30	65.00	1950.00
3	11 KV V cross Arm (10.2 K.g. each)	No.	1	810.00	810.00
4	Top bracket 75x40mm MS channel (1.3kg each)	No.	1	100.00	100.00
5	Back Clamp for V cross Arm 1.70Kg each	Pair	1	80.00	80.00
6	11KV Pin insulator	No	5	80.00	400.00
7	11KV GI pin	No	5	80.00	400 00
8	11KV Disc insulator (70KN) (B&S)	No	12	390.00	4680.00
9	11KV H/W fitting	Set	6	350.00	2100.00
10	HT Stay set complete	No	1	1050.00	1050.00
11	HT Stay Insulator	No	1	50.00	50.00
12	HT Stay Clamp (1.95 Kg. / Pair)	Pair	1	125.00	125.00
13	7/10 SWG Stay wire	Kg	10	75.00	750.00

10.	Description of Materials	Unit	Qty	Rate	Amount
14	foundation 1:3:6 size (900mmx600mmx900mm) using 40mm BHG Metal with all labour and materials except stay set, stay wire and stay insulator.	No	1	2315.15	2315.15
15	Concreting of support C.C - 1:4:8 using 40mm BHG metal size - 5'x2'x2' = 20CFT = 0.570Cum Padding 900x600x150mm = 0.081 0.651Cum @ 3071.25= 1999,38each	No.	1	2639.18	2639.18
16	Couping of support section 15"x15" (3.9Cft) height 2'-6' (1' - 6" above G.L & 1' - 0' below G.L) in C.C 1:2:4 using 12mm BHG metal & curing for 5 days	Nos	1	676.37	676.37
17	Earthing for support (Coil type)	No	1	166.00	166.00
18	GI Barbed wire anti climbing device 2Kg per support	Kg	2	80.00	160.00
19	Red Oxide Paint	Ltr.	1	150.00	150.00
20	Aluminium Paint	Ltr.	1	200.00	200.00
21	Black Paint	Ltr.	0.5	220.00	110.00
22	MS Nut , Bolt & Washer of different sizes	Kg	5	71.00	355.00
23	Sundries for survey tree cutting, small size nut bolt, Al. Binding wire / tape & Danger Board 4 Nos. etc.	LS			1000.00
	Total cost of materials (as per 18-19 co	st data)			27477.61

Part-C2

I. No.	Description of Materials	Unit	Qty	Rate	Amount
1	100x50x6mm MS Channel	Kg	52	65.00	3380.00
2	75x40x6mm MS Channel	Kg	130	65.00	8450.00
3	50x50x6mm MS Angle	Kg	91	65.00	5915.00
4	11KV AB Switch 3 Pole (400 Amp)	Set	1	11850.00	11850 00
5	11KV HG Fuse 3 Pole (400 Amp)	No.	1	6120.00	6120.00
6	11 KV L.A. 12KV-10KA	No.	3	3550.00	10650.00
7	H.T.stay set (Complete)	Set	2	700.00	1400.00
8	H.T. Stay Insulator	No.	2	40.00	80.00
9	H.T. Stay clamp (1.95 K.g./ Pair)	Pair	2	146.25	292.50
10	7/10 SWG Stay Wire	K.g.	20	75.00	1500.00
11	GI Pipe Earthing 40 Dia Medium gage 3 mtrs. Long	No.	5	1050.00	5250.00
12	40x6mm GI Flat for nutral	K.g.	100	75.00	7500.00
13	Fixing and concreating of stay set with 0.5Cum cement concret foundation 1:3:6 size (900mmx600mmx900mm) using 40mm BHG metal with all labour and material except stay set, stay wire, stay insulator.	No.	2	2315.15	4630.30
14	Concreting of support C.C - 1:4:8 using 40mm BHG metal size - 5'x2'x2' = 20CFT = 0.570Cum Padding 900x600x150mm = 0.081 0.651Cum @ 3071.25= 1999.38each	No.	2	2639.18	5278.36
15	Couping of support section 15"x15" (3.9Cft) height 2'-6' (1' - 6" above G.L & 1' - 0' below G.L) in C.C 1:2:4 using 12mm BHG metal & curing for 5 days	Nos	2	676.37	1352.74
16	Materials for Massionary work for Earth Pit, Charcoal, Salt etc including construction of earthing chamber (Size: 2"x2") and RCC slab cover	No.	5	2270.27	11351 35

No.	+	Unit	Qty	Rate	Amount
17	_ mm2 AAAC	Km	0.04	30000.00	1200.00
18	Red Oxide paint	Ltr	3	150.00	450.00
19	All. Paint	Ltr	4	200.00	800.00
20	Black Paint	Ltr	0.5	220.00	110.00
21	MS Nut , Bolt & Washer	K.g.	36	71.00	2556.00
22	L.T. Distribution box including Kit Kat fuse with MCCB for 250KVA S/S (As pre CESU specification)	No.	1	48000.00	48000 00
23	3 1/2 x 300mm2 PVC Cable for 250 KVA TFR.	Mtr.	25	994.00	24050.00
24	Plinth for TFR 6ft hight (below GL2ft)x5ftx5ft	No	1		24850 00
25	Barbed Fencing (size 15'x15') with constn. of retaining wall erection of RCC fencing post, Sand filling and metal spreading, Fixing of Iron gril gate etc. as per CESU specification	No	. 1	15840.00 48510.00	48510.00
6	Sundries for survey, PVC tape, Ampire tape, Danger Board, small size nut & Bolt preparation of drawing cable socket etc	LS	1	5544.00	5544.00
	Total cost of materials (as per 18-19 c	ost data)		1	222000 2
	Total of Part-B (Part-B1+Part-B2)				232860.2
	Stock and Storage	@ 3%_			260337.8
		0 70-			7810.14
	T and P charges	@ 20/		Total	268148.0
	Contingency (- 1	
				22.50%	60333.30
	Transportation @				0.000
	Erection @	y 10%			
	Other overheads Cast	. His a second	Openior 101 - 101	Sub-Total	328481.30
	Other overheads (incli	uding supervi	sion charges	1	19709.00
				Grand Total	348190.30
				Or Say Rs.	348190.00
			GST	@ 18% on 6%	3548.00
				10/2 Case	2402.00

			1% Cess	3482.00
Al	location			
	Gross	6% Amount	18% GST	1% Cess
Part-A	421017.00	23831.00	4290.00	4210.00
Part-B	348190.00	19709.00	3548.00	3482.00
Total Estimated Amount (Part-A+B)	769207.00	43540,00	7838.00	7692.00

Asst. General Manager (Elect.)

K.E.D. Khordha

Technical Report:-

This estimate amounting to Rs.7,69,207.00 (Rupees Seven Lakhs Sixty Nine Thousand Two Hundred Seven) only has been prepared for construction of 11KV line with installation of sub-station towards power supply to 100 KW individual load for Residential Apartment of M/S Neelachal Builders Pvt. Ltd., C/o– Sri Satya Priya Jayasingh (M.D.), At- Bikashnagar, Jatni, Khata No.- 147/210, Plot No.- 495/588 & 541/587, Mouza- Badanuagao, Dist- Khordha, under Electrical Section No.-II Jatni.

Provision has been made for 1) Construction of 11KV line 3Φ 3w using 55mm2 Insulated Conductor - 0.05Km. (1No. Span), 2) Erection of 11KV intermediate pole at tapping point using 13Mtr long 150x150mm R.S. Joist pole – 1No. and 3) Installation of 250 KVA, 11/.4 KV plinth mounted S/S - 1No. using 10mtr long 100x116mm R.S. Joist pole under deposit scheme on 6% supervision charges. Proposal has been made that all the above works are to be executed by party and maintained by TPCODL.

Power supply shall be fed from 12.5 MVA 33/11 KV Sub-station Jatni Structure. Connected load on the Sub-station is 6737KVA. Evening peak load current is 145A at L.V side. Distance from 33/11KV Sub-station to proposed load is 4KM. The proposed 11KV line to be tapped from 11KV Rural Feeder. Size of conductor of 11KV feeder is 80/55/34mm² AAAC. V.R. at the proposed point is 8.61%.

The work will be taken up by party after obtaining approval from Superintending Engineer (Elect.) Electrical Circle No.-II, TPCODL, BBSR and issue detail permission from this end.

Asst. General Manager (Elect.)

K.E.D. Khordha

TPCØDL TP CENTRAL ODISHA DISTRIBUTION LIMITED

(A Tata Power and Odisha Government Joint Venture)

KHORDHA ELECTRICAL DIVISION, KHORDHA TLC ROAD, KHORDHA ODISHA-752055

TAX INVOICE

	I AX III VOICE					
TPCO	DL-21AAHCT8404	ID1ZQ				
Invoice No:						
Invoice Date						
Scope of work At-Bikash Nagar Jatni	1. 250KVA S/S-	1. 250KVA S/S-1No. 2. 11Kv Line-0.05Km				
Name of the buyer	Builders Pvt Ltd, h(M.D)	C/O- Sri Satya				
Address	At-Bikash Nagar Jatni.					
GSTIN of the buyer						
Status of the buyer	Govt.	Pvt.	P			

SL No-	Particulars	HSN/SA C Code	Total Value	Taxable Value	SGST@9%	CGST@9%	GST	Total Invoice Value
1	6% supervision charges	995461	51378.00	43540.00	3919.00	3919.00	7838.00	51378 00
Tota	Taxable Value							43540.00
Tota	I Invoice Value/or Say							51378 00
Amo	unt of Tax							7838.00
Or S	ay							
Amount in words:		Seven Th	ousand Eight	Hundred Thi	irty Eight Onl	v.		

Declaration:- I hereby solemnly affirm and declare that the information given herein above is true and correct to the best of my knowledge.

Asst Manager (Finance) CESU, KED, Khordha.

Asst. General Manager (Elect.) CESU, K.E.D, Khordha.

Page 1 of 1